
1. Seite

35

2

4

5

3

4

5

2001-015

11

6

7

36

8

3490-002A

1982-019
2002-007

M8x25 Hlf csavar

M8 Hl anya

4911-093

6152-1423A

Belső használatra !

III.

III.

I.

I.

II.

Product.: Lang

M8 Önzáró anya

6536-018

2002-020

2003-023

10

9

M8 Fakötéses alátét

M5x10 Sf csavar
2001-019

M5x6 Hernyócsavar
2001-015

5025-003A

M5x6 Hernyócsavar

5135-085A

6536-002A

5131-001B

M5x6 Hernyócsavar

5135-085A

5131-001B

6536-001A

2001-015

K3091 Kolding Sp

2001-065

6152-1424A

IV.

33 6152-1421

18400-192

II.

IV. 9100-017

346152-1422

2001-180
M6x10 Hf csavar

2001-186
M6x20 Sf csavar

2001-045
M6x20 Df csavar

2001-042
M6x16 Df csavar



13

12

18

15

14

16

17

2. Seite
Belső használatra !

15

15

18

2001-106

6611-140

6611-004A

5540-180

1982-001

1982-001

1982-011

1982-011

1982-001

5311-357C

2001-341
M5x10 Df csavar

9900-389

2003-020

2001-042

M6 Íves rugós alátét

M6x16 Df csavar

Product.: Lang

2001-015
M5x6 Bkny

 hernyócsavar

15 1982-001

M5x16 Hlf csavar

K3091 Kolding Sp



3. Seite
Belső használatra !

Product.: Lang

19

236081-326

20 6081-323

22 6081-325

26

256081-329

26 6081-330
285490-043

27

24

23

27 6081-464

24 6081-327

21 6081-324

6081-330

1.

2. 3.

6.

5.

7.

8.

9.

10. 11.

3712-108

6081-326

6081-327

6081-464

Feuerraumauskleidung
(9900-575)

3712-108         1 Stück
6081-323         1 Stück
6081-324         1 Stück
6081-325         1 Stück
6081-326         1 Stück
6081-327         1 Stück
6081-329         1 Stück
6081-330         2 Stück
6081-464         1 Stück

1. 11.
Reihenfolge:

19 3712-108
4.

Lage des Feuerablenkvermiculit

K3091 Kolding Sp


